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1) ROXZRHSRLES, (2R X 10%8)

1 (x—3)2+4(x—3)—12 2) 4a°—a

2) (5a+3)°—16(5a+3)+64  4) x —2xy+y>—25

5) 3x2+18x+27 6) 3ax2—18ax—21a

7) Bx+1)°+10(3x+1)+25 8) pt+p—t—1

9) alx—1)(x+5)—7a 10) ax'—ay’
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2) ROXZEHSMLESL, (2R X108

1 X =y +2y+1) 2) ab+1—a—b

3 Ix+D'—1207x+1+32 4 a'—la-]

5) —p(a—b)+a(a—b) 6) x —0.1x—0. 06
2 2 2
7) (4a—1) —2(4a—1)+1 8) 4x —(y+2z2)
3 2 2 4 4
9) 2ax +22ax +60ax 10) X —=x+-
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3) ROAZABARLESL, (2R X108

1) 5py—p—10y+2 2) x2—(y—1)2

3) a(x+12)(x+4)+16a 4) 9a°+9a—4

5)  (x+2)°+15(x+2)+56 6) 12t°+19t+5

7) 9ax2—30axy+25ay2 8) —25a2+(3a—2)2

9) X +2xy+y —2x—2y 10) ¢ —0. 6cd+0. 08d°
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4) ROXZEHGMLESL, (2R X 1088)

1) (p+a)x—(q+p)y 2) 3ax —27a

3) (8x—1)°=7(8x—1)+6 4) a(a+5)—2(a+20)
5) 5px2+70pxy+245py2 6) 18x2—30x+%
7 az(c—d)+b2(d—c) 8) X —ax’—a’x+a’

9) Ux+1)+11(4x+1)+28 10) —2xy’+8x
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5) ROXZHEHSMLESL, (2R X 108)

1 1 69x2 +52xy+4y2

3)

5)

7

9)

@2x+1)°=14(2x+1)+45

a(x+y+z)—by—bx—bz

ax2+6axy+9ay2—2ax—6ay

3a°+27a’b+42ab’

2) *a°—4ab+3b°

3

4)  6x 4+x—12

6) x2+8x+16—y2

8) ax+ay—bx—by

10) a’—b°—2a+2b
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1) ARE—m@E (2K X10%) A =]

1) (x+3)(x=5)  2) a(2a+1)(2a—1) 3) 25(a—1)°
4) (x—y+5)(x—y—5) 5) 3(x+3)° 6) 3a(x—7)(x+1)

7) 9(x+2)° 8) (p—1)(t+1) 9) a(x+6)(x—2)
10) a(x+y)(x—y)

2) KiE—MRE (2R x10%#) A =]
1) (x+y+Dx—y—1) 2) (a—1)(b—1) 3) 7(7x—3)(x—1)

4) «(3a+1)(2a—1) 5) (a—b)(a—p) 6) (x—0.3)(x+0.2)

7) 42a—1)° 8) (2x+y+2)(2x—y—2z) 9) 2ax(x+6)(x+5)

10) L@x-2)°

3) KE—M@E (2R X108 A B

1) (0=2)By—1) 2) (x+y—1)(x—y+1) 3) a(x+8)°
4) (3a—1)(3a+4) 5) (x+10)(x+9) 6) (4t+5)(3t+1)

7) a(@x—5y)> 8) —4(a+1)(4a—1) 9) (x+y)(x+y—2)
10) (¢—0. 2d)(c—0. 4d)
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4) KE—RE (2Rx10%#) A =]
1) (p+ad(x—y) 2) 3a(x+3)(x—3) 3) 2(4x—1)(8x—7)

4) (a+8)(a—3) 5) 5p(x+7y)° 6) J(6x—5)"

7) (a+b)(a—b)(c—d) 8) (x+a)(x—a)2 9) 4(4x+5)(x+2)
10) —2x(y+2)(y—2)

5) SIE—ME (25X 108) A :
1 A8x+2y)’ 2 l2a-30)° 3) 4x—2)(x—4)

4) (3x—4)(2x+3) 5) (a—b)(x+y+z) 6) (x+y+4)(x—y+4)
7) a(x+3y)(x+3y—2) 8) (a—b)(x+y) 9) 3a(a+7b)(a+2b)
10) (a—b)(a+b—2)



